e by Example

Enamphe 1
Ipage 131

Example 2
(page T

and Problem Solving

,_-i_--ul-ri
:_h-ﬁ-—---llﬂ'."""
I um.,...umm-mllﬂ""’“ -

(] 2 Algebra 1fx = 12.then 26 ~5=1%
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& & Algebra Ifx = 3,then x| = 3
&, In the United States, If it is July 4, then it is Independence Dhay.

i) & Algebra 1fx = — 10, then +¥ = 100.
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T A lin bisccts a segment & An integer is divisible by 100

if and only if its last two digits

if and only if the line intersedts
the segmont only at its midpoint, afe zoTon.
B Twe lines arc parallel if and

. You live in Washingson. D. C,
oaly if they are coplanar

il amad ondy if youw live inthe
capital of ihe United S1ates and do nol imtersect.

11 Two angles are congruent ifand '] 12 Algebra v* = 144 if
- . = m
mhl‘lhjhwthmm. x= 1Zorxr = =% e
Test each stutemicnt belaw
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1L A perpendicular bisector of
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I4. Paralle! planes are plancs that do not intersect,
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midpoint of a segment is a point that divides 5
segments, & segment into two congruent
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pairs ol linsear pairs.
:-iul-ﬂh-.l...mwmm See Exercise I7.)
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& Algebra Each condithonal statement is true, If the sonverse is trse, write 8
I o, proside a counterexample to shaw that the converse is fabe.
AL Ifx = 19, then 2x ~ 3 = 35, 3% My = Lthens® =9
M. x >0, then x| >0, M. Iy =5thens = 125

@ The American Manual Alphabet For Exercises 3640, use the chart below. Decide
whether the description of cach letier is # good definition. If not. provide =
counterevample by giving snother letter that coubd fit the definition.







